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P3-3

BrE) | GEBAK @) | ERE(EAH/K (XS R

07:15 278 150.0 5| {Ri%e07:15 Bz (RAERSE)
08:05 278 150.0 = {RRiB008:05 B (FRFAEEE)
09:15 278 150.0 = RRiB009:15 Bzh (REAKEE)
10:15 278 150.0 (& =| 1BRige@10:15 Bzh (REFRESE)
11:00 278 150.0 =l {Rige11:00 B3 (RAERSE)
11:45 278 150.0 =l RRiBe11:45 Bz (REAEEE)
12:30 278 150. 0 E| {Rig012:30 B3h (RE{ERSE)
13:15 278 150.0 E BRige13:15 Bz CGRAERSE)
14:00 278 150.0 = Ri%e14:00 B (REMREEE)
15:15 278 150.0 El BRige15:15 Bz CGRAERESE)
21t 2780.0 (10)%) 1500. 0 32 03KEC: 2080.0, PH: 5.6

#HERECE (2370.0 vs 4120.0) 35
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P3-3_0, Day=58 (2025-05-26)
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Warning: lcol ["WC1',  "WC2'] missing

TargetEC=2600. 0,  TargetSetEC=2080. 0

Warning: lcol ['ECB’,| 'ECC’'] missing
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Warning: lcol ['PHB’,| 'PHC’'] missing
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P3-3

BjiE) | BRI (F)) | EHME (BAH/K) | XS ERE

07:10 278 150. 0 E BRi&e07:10 Bzl (GRAEREE)
07:55 278 150.0 5| {Ri%@07:55 B3 (FRAERSE)
08:40 278 150.0 = {RRiB008:40 B (FRFAEEE)
09:45 278 150.0 5| {Ri%@09:45 B3 (KRAERSE)
10:35 278 150.0 El 1BRi%010:35 Bz CGRAERE)
11:15 278 150.0 =l {Rige11:15 B3 (GRAERSE)
11:55 278 150.0 S| {Rige11:55 B (REAERSE)
12:35 278 150. 0 E| {Rige12:35 Bzh (RE{ERSE)
13:15 278 150.0 E BRige13:15 Bz CGRAERSE)
14:05 278 150.0 = Ri%e14:05 B (REAREESE)
15:05 278 150.0 E BRige15:05 Bz (GRAERERE)
16:10 278 150.0 F BRige16:10 Bz CGRAERE)
24t 3336.0 (12)%) 1800. 0 32K EC: 2080.0, PH: 5.6

FHERECE (2323.0 vs 3847.0) i d5




FRV (ml plant-1)

ET (ml/hr/plant)

ET (ml/hr/plant)

P3-3_0, Day=57 (2025-05-25)
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Warning: lcol ["WC1',  "WC2'] missing

TargetEC=2600. 0,  TargetSetEC=2080. 0

Warning: lcol ['ECB’,| 'ECC’'] missing

TargetPH=6. 5, TargetSetPH=5.6

Warning: lcol ['PHB’,| 'PHC’'] missing
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P3-3

BjiE) | BRI (F)) | EHME (BAH/K) | XS ERE

07:25 273 150. 0 E BRi&e07:25 Bzl (GRAEREE)
08:10 273 150.0 5| {Ri%e08:10 Bz (FAAMERSE)
09:15 273 150.0 =l RRiB009:15 B (RFAKEE)
10:05 273 150.0 5| {Ri%@10:05 B3 (RAERSE)
10:50 273 150.0 El 1BRi%010:50 Bz GGRAEREE)
11:35 273 150.0 =l {Rige11:35 B3 (RAERSE)
12:15 273 150.0 Sl {Rige12:15 Bz (REAERSE)
12:55 273 150. 0 E| {Rige12:55 Bzh (RE{ERESE)
13:35 273 150.0 F BRige13:35 Bz CGRAERSE)
14:20 273 150.0 E| Ri%e14:20 B (REAREESE)
15:15 273 150.0 El BRige15:15 Bz CGRAERESE)
16:20 273 150.0 F BRige16:20 Bz (GRAERE)
24t 3276.0 (12)%) 1800. 0 32K EC: 2080.0, PH: 5.6

#HEKRECE (2223.0 vs 3803.0) id5




FRV (ml plant-1)

ET (ml/hr/plant) ET (ml/hr/plant)

ET (ml/hr/plant)

P3-3_0, Day=56 (2025-05-24)
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Warning: lcol [FVI',| "FVO’'] missing
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Warning: lcol ["WC1',  "WC2'] missing

TargetEC=2600. 0,  TargetSetEC=2080. 0

Warning: lcol ['ECB’,| 'ECC’'] missing

TargetPH=6. 5, TargetSetPH=5.6

Warning: lcol ['PHB’,| 'PHC’'] missing
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